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CC3-ECONOMICS (203)

INTRODUCTORY MACROECONOMNICS
FulfMarks: 60
ASSIGNMENT

Tl figures Iy tramargin indicais fll maris

GROTP-A
Write any fwe questions from the following 20=2 =40

1. (a) What 1= national income? Outline the difficulties of measgrement of national 2+8+10=20
MCOMme, {
(b] Evaluate nanonal income az a measurs of weliare:

Id

Determine equilibrium level of income and employnient in the classical model 20

3. (2) Explamm how the level of saving i1s detesmmned i the simple Keynestan  15+3=20
consumgption function.
(b) What 15 the effect of an increase in dispesable income on the level of saving?

4 Explain the muluyﬁa'—acc:jﬂn;{pr"inmraﬂﬂﬂﬂ model mn macroeconomics. 20
GROUP-B

Write any fvo guestions from the followmg 10=2 =20

b Explain cutically Fisher's version guantity theorv of monev. 10

6. Define CPI. WPL GNP Deflator, and GNL 2Lx4=10

7. Diaprammatically explain the concept of effective demand. 10

2 What do vou mean by Keynesian multiplier? Disunpuish betwesn static 2+8=10

mulnplier and dynamic muluplier
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CC4-ECONOMICS (204)
MATHEMATICAL ECONOMICS
Full Marks: 60
ASSIGNMENT
Thz figures [N Uramargin indicais All varks
GROUP-A
Write any e questions from the following 20=2 =40
1. Describe the Cobweb model mathematically and diagrammaticallv. 20
.2 Find the value of the game of a 2X2 pay-off matnx with mi'xﬂd"wateg' 20
3. {a) How do we mterpret 1% order differential equahions with the help of Domar’'s  10+10=20
Growth Mod=l?
(b) Explam the Kmife-edge problem of sconomic growth i this context.
4 Explain the following concepis: Sed =20
(a) Saddls potnt
(b) Zero-=zum Game and Trwo-p2rson-zero-sum Game
(c) Fair Game and Stoctiv detssminable Game
(d) Pay-off Matrix
GROUP-B
Write any fwo questions from the following 10=2 =20
3 .Eesqll;e Solow growth model mathemaneslly. 10
i Write the assumptions of two-person-zero-sum same. Explain the two-person- 4-6=10
zero-sum game with pay-off matrix.
7. Explain the Domunance property of game theory with the help of a numencal 10
examiple.
B Explan Samuelson Multiplier-Aceelerator Interaction Model 1£1]

»
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DSC2-ECONOMICS
MACROECONOMICS
Full Marks: 60
ASSIGNMENT
The frgures In the margin indicate full marks
GROUP-A / frwp=

Answer any two of the following 20x2 =40
[ (W #(0 2mHE Tea We
1. Discuss various methods of measuring national ingome, 20

St =T ‘P‘H%.TJTC"}? a0 ST PE Y e |

2. Explain Cambridge version of the guanttyvtheery of monev. Distinguish between  12+8=10
Fisher’s verston and Cambridge vemsion of quantity theory of money
TEs Sitee W e )

3 Describe classical theary of gutpur and employment. 29
et @ frats T =2 =2 s ==

4. (a) Wrnte a short fgt<'on Kevnesian consumption function. 10+-10=20

{b) Shetthe ralation between APC and MPC.
T S 2T € e S ST W T @] 59

GROUP-B / fefil-¥
Answer any #wo of the following 10=2 =120
(A (I BT THE TEA WS
5. What do you mean by national income? Distzuish between GNP and NNP 3+53=10

ST T T S @60 GNP e NNP I W Aids 9
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Explain the concept of investment multiplier.

s e g S =)

Explain the concept of circular flow of ncoms

=Y 5 % S e T

Explain the difficulties in measurine natonal mecome.
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GE2-ECONOMICS
Full Marks: 60

ASSIGNMENT

Tho figures in the mavohy Biedicade full mearks

The question paper contains courses A, B and C. _
Candidates are required to answer any one from the tfiree courses and
should mention it clearly on the Answer Book.

A MACROECONOMICS

GROUP-A

YWrite any mvo questions 20=2=40
1. Discuss the vanous methods of measunnz national income of acm:mn 20
2 Explain elassical theory of output and employment 20
3. (a) What do you mean by Marzinal Propensity o' Caonsume (MPC)? 4=-16=20

(b) Explain the concept of investment mpltipherwuth suitable diagram

4. (a) What do vou mean by Inflationary gap? 101629
{b) Distineuish between Demand Pulland Cost Push Inflation.

GROUP-B
CAnswer any hve guestions 10x2 =20
5. Briefly discuss the difficulties 1 measurmg Natonal Income. 10
6. Explan Quantity Theory of Money. 10
7. Diescribe Saj_r,rs law of market. 10
B. Ex]:lla_m the hgudity preference theory of Kevnes. 10

B. INDIAN ECONOMY-IT

GROUP-A
Answer any hve guestions 20=2=4D
L Discuss the role of Cottage and Small-Seale Industries in India’s economic )
development.
2 Discuss the canses of Industrial Dispute in India. 20
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i Wrtite a note on functiens of Reserve Bank of India 240

4. {a) What are objectives of economic planning in Indsa? 1010
{(b) Discuss the failures of India’s Five Year Plan.

GROUP-B
Answer any huo guestions 10x2 =20
5 Idemify some of the problems associated with development of small-scale industries 10
in India:
&5, Discuss how Reserve Bank of India contrals supply of cradit i the country. 10
7. What 15 meant by money supply? Give a brief description of different components .~ 5=3 =10
of monev supply mn India
8. Discuss various zocial security measures adopted n Indea. - 10
C. POBLIC FINANCE
GROUP-A
Answer any fwe questipns 20=2=40
1. {a) Define Public Good What are its sahent feaﬂ:rﬁ'f{" 8-12=20
(b) Explain how existence of public good may givesato the problem of externalny.
2 Critically explain Ability to Pay pringiple ofitaxation 20
3. (2) What do you mean by direct tax and mdirect tax? F-16=20
ib) What are the characterssties of direct tax and mdirect tax”
4, (2} What de you mean by burden of public debt? 6+-14=20
{b) Do you think that iternally held poblic debt is better than externally held public
debt?™—Justfy your wiew,
GROUP-B
. Auswer any me questions 10%2 =239
8 té'ju: What i Pareto efficiency? 4+6=10
b}, Mdentify some of the causes of marksat failure
8. Witz 2 short note on Fiscal Federalism m Inda 10
7. Explain the Bensfit principle of taxation 10
8. Distinguish between posiine and negative exiemaliiies with examples. 10
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